
Сложение 
и вычитание 
многозначных 

чисел. 

Закрепление.
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А.
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Пример
ы:I - УРОВЕНЬ

70200-36485
135508+48324

II УРОВЕНЬ
8003-567

12049+7632



33715

183832

7436

19681



Пустыня 
Сахара

X+50=43*10 а*12=48+12

y:5=320+280







Река Нил
6671 км.

Река 
Волга

3530 км.



545
1

980
39



В I – д – 5 гр.
Во II – д – 6 гр.

?-ч
?-ч



7 7 7 7 =6

51*8

2*4*

*283

9 9 9 9 =20

1*44

25*6

*63*
+

-



(7* 7- 7): 7 =6

5128

2845

2283

9 9: 9 +9 =20

1044

2586

3630





Спасибо 
за 

хорошую 
работу!


